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ﬁts 2 BEEYITERT SLBESNOERICEIHEHR0/3) _ _ REEE | FIL 30
RERIEOMNE | @EmEs 12240061 [ B % ek R L&tk
. SEMMOTIHRICHEET ST aERHA
*gi;]gg TREOBBOEILADKRES TREDHBEILADKRES TREOBBOESLADKRES TREFOHBEEILNDOKRES
&5 X 4 ;.%r'né; Tﬁﬁb\(if)ﬂﬁ%ﬁ jJ(;ONzcn?)é X 4 Tﬁﬁﬁg\;ﬁ)g;ﬂz ﬁf jJ(;ONzcn?)é X 4 ;,%r‘na; J:ﬁﬁuﬁb‘(if)tt% jJ(;ONzcn?)é X 4 Lﬁﬁb\(?;))tt% ﬁf jj(g')\acn?)é
; 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - —
ZznLst 1.00 | 0.00 ~ 4.69 58.41 | =hst | ooo ~ 000|163 871 ZznLst 1.00 | 5.00 ~ 5.00 5841 | =N | 5.00 ~ 5.00)| 1.63 871
2 100kN/mMZ#8 % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - —
ZznLst 1.00 | 0.00 ~ 5.62 70.25 | =nLsY | 000 ~ 000 1.61 8.63 ZznLst 1.00 | 5.00 ~ 6.50 70.25 | EnRS | 6,00 ~ 650 | 1.61 8.63
3 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - —
ZznLst 1.00 | 0.00 ~ 5671 71.33 | =N | 000 ~ 571|187 10.02 ZznLst 1.00 | 5.00 ~ 6.60 71.33 | #nS | .00 ~ 660|187 10.02
4 100kN/mMZ#8 % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - —
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
5 100kN/mMZ#8% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - —
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
¢ 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ - - —
st — -~ — — | Fnst — ~ — — — st — — ~ — — | #nLst - ~ — — —
. 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ - - —
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
g 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#BZ % — -~ — — |3mZE#BZ B - ~ - - —
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
g 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - —
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
10 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - -
st — -~ — — | Fnst — ~ — — — st — — ~ — — | #nLst - ~ — — —
17 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| FnLst — ~ — — — ZznLst — — ~ — — | EnLst - ~ — — —
19 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
19 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — —
14 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
5 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#BZ % — - ~ — — |3mZE#BZ B - ~ - - -
TS — -~ = — | Zh st -~ = — — zhst — - ~ — —| =it - ~ — —




ﬁts 2 EEYITERT ALBESNOERICETHEH(2/3) _ _ REEE | FIL 30
RERIEOMNE | @EmEs 12240061 [ B % ek R L&tk
. SEMMOTIHRICHEET ST aERHA
*gi;]gg TREOBBOEILADKRES TREDHBEILADKRES TREOBBOESLADKRES TREFOHBEEILNDOKRES
&5 X 4 ;.%r'né; Tﬁﬁb\(if)ﬂﬁ%ﬁ jJ(;ONzcn?)é X 4 Tﬁﬁﬁg\;ﬁ)g;ﬂz ﬁf jJ(;ONzcn?)é X 4 ;,%r‘na; J:ﬁﬁuﬁb‘(if)tt% jJ(;ONzcn?)é X 4 Lﬁﬁb\(?;))tt% ﬁf jj(g')\acn?)é
16 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
P 100kN/mMZ#8 % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
18 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
19 100kN/mMZ#8 % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
20 100kN/mMZ#8% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
21 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ - - -
st — -~ — — | Fnst — ~ — — — st — — ~ — — | #nLst - ~ — — —
22 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
23 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#BZ % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
24 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
25 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - -
st — -~ — — | Fnst — ~ — — — st — — ~ — — | #nLst - ~ — — —
2 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst 1.00 | 0.00 ~ 5.38 67.16 | TN | 000 ~ 538|184 9.85 ZznLst 1.00 | 5.00 ~ 6.00 67.16 | =nS | 6,00 ~ 6.00 | 1.84 9.85
27 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst 1.00 | 0.00 ~ 546 68.12 | =N | 000 ~ 0.00)| 1.69 9.03 ZznLst 1.00 | 5.00 ~ 6.00 6812 | =nS | 65,00 ~ 6.00 | 1.69 9.03
28 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst 1.00 | 0.00 ~ 5.48 68.41 | TN | 000 ~ 548 1.73 9.27 ZznLst 1.00 | 5.00 ~ 6.00 6841 | #nS | 6,00 ~ 6.00|1.73 927
29 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst 1.00 | 0.00 ~ 542 67.569 | TN | 000 ~ 542 1.82 9.74 ZznLst 1.00 | 5.00 ~ 6.00 67.69 | EnS | 65,00 ~ 6.00 | 1.82 9.74
20 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#BZ % — - ~ — — |3mZE#BZ B - ~ - - -
TS — -~ = — | Zh st -~ = — — zhst — - ~ — —| =it - ~ — —




ﬁts 2 EEYITERT ALBESNOERICETSEIHREG/3) _ _ REEE | FIL 30
RERIEOMNE | @EmEs 12240061 [ B % ek R L&tk
. SEMMOTIHRICHEET ST aERHA
*gi;]gg TREOBBOEILADKRES TREDHBEILADKRES TREOBBOESLADKRES TREFOHBEEILNDOKRES
&5 X 4 ;.%r'né; Tﬁﬁb\(if)ﬂﬁ%ﬁ jJ(;ONzcn?)é X 4 Tﬁﬁﬁg\;ﬁ)g;ﬂz ﬁf jJ(;ONzcn?)é X 4 ;,%r‘na; J:ﬁﬁuﬁb‘(if)tt% jJ(;ONzcn?)é X 4 Lﬁﬁb\(?;))tt% ﬁf jj(g')\acn?)é
97 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
92 100kN/mMZ#8 % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
93 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
24 100kN/mMZ#8 % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
95 100kN/mMZ#8% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — —| Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
26 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ - - -
st — -~ — — | Fnst — ~ — — — st — — ~ — — | #nLst - ~ — — —
97 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst — -~ — — | Fnst — ~ — — — ZznLst — — ~ — — | #nLst - ~ — — —
28 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#BZ % — -~ — — |3mZE#BZ B - ~ - - -
ZznLst 1.00 | 0.00 ~ 4.77 59.41 | =hst | 0oo ~ 477|176 9.40 ZznLst 1.00 | 5.00 ~ 5.00 59.41 | =S | 5.00 ~ 5.00)|1.76 9.40
29 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst 1.00 | 000 ~ 6.07 76.09 | =N | 000 ~ 6.07)| 1.80 9.64 ZznLst 1.00 | 5.00 ~ 7.00 76.09 | =nLS | 6,00 ~ 7.00 | 1.80 9.64
0 100kN/mMZ#8 % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#8Z % — - ~ — — |3mZE#BZ B - ~ - - -
st 1.00 000 ~ 613 76.86 | =nLSY | 000 ~ 613|187 10.01 ZznLst 1.00 | 5.00 ~ 7.30 76.86 | EnLS | 600 ~ 730 | 1.87 10.01
47 100kN/mMZ#8% % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B - ~ - - -
ZznLst 1.00 | 0.00 ~ 4.81 59.94 | =hst | 000 ~ 481|185 9.88 ZznLst 1.00 | 5.00 ~ 5.20 59.94 | =S | 5,00 ~ 520 )| 1.85 9.88
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mMZ#B 2% ~ ImERZS ~
ZznLst ~ ZFh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ZznLst ~ Fh st ~ ZznLst ~ Fh st ~
100kN/mMZ#8 % % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZznLst ~ Fhn st ~ ZznLst ~ Fh st ~
100kN/mMZ#8% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImERZS ~
TS ~ Zn LS ~ zhst ~ zh st ~
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